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Kim - someone, hop - move

e 06 X\ parc bridge
Display Analyses: & single . packed Clear | Exit| Help

Passage |Kim hopped.

= 4

Syntax | AKRO | AKR |

Question | Someone moved.

X |~

Syntax | AKRO | AKR |

Answer  ||YES: [person=Kim,move=hop]
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touch - kiss

e 06 X\ parc bridge
Display Analyses: & single . packed Clear | Exit| Help

Passage | Sandy touched Kim]

= 4

Syntax | AKRO | AKR |

Question | Sandy kissed Kim.

~ -

Syntax | AKRO | AKR |

Answer  ||UNKNOWN
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Sandy - someone, kiss I- touch

e 06 X\ parc bridge
Display Analyses: & single . packed Clear | Exit| Help
Passage | Sandy kissed Kim)] A
= 4

Question

Syntax | AKRO | AKR |

|No one touched Kim.

~l |=

Syntax | AKRO | AKR |

Answer  [|NO

N
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know that X = X

‘000 X parc bridge
Display Analyses: & single . packed Clear| Exit| Help
Passage | John knew that the food was ready. lj

5 =] ¥4

Syntax | AKRO | AKR |

Question | The food was ready.

Syntax | AKRO | AKR |

Answer  ||YES
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pretend that X = not X

"0 0 X parc bridge
Display Analyses: @ single - packed Clear| Exit| Help
Passage | John pretended that Mary was sick. ,K

B~ L= b4

Syntax | AKRO | AKR |

Question | Mary was sick.

P~ [P

Syntax | AKRO | AKR |

Answer  [[NO
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(believe X, X I- Y) I+ believe Y

‘000 X parc bridge
Display Analyses: & single . packed Clearl Exit| Help
Sandy believed that Kim hopped. lj

5 =] Vi

Syntax | AKRO | AKR |

Passage

Question | Sandy believed that Kim moved.

~l |=

Syntax | AKRO | AKR |

Answer || YES: [move=hop]

N
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pretend to X i= not X

‘000 X parc bridge
Display Analyses: 4 single - packed Clear| Exit| Help

John pretended to work. IK
5 =] ¥4

Syntax | AKRO | AKR |

Passage

Question | John worked.

Syntax | AKRO | AKR |

Answer  [|NO
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refuse to X I not X

000 X parc bridge
Display Analyses: @ single - packed Clear| Exit| Help
Passage | John refused to dance. ’j

= 4

Syntax | AKRO | AKR |

Question | Did John tango with Mary?

X |~

Syntax | AKRO | AKR |

Answer  |[NO
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not hesitate to X I X

000 N\ parc bridge
Display Analyses: 4 single . packed aear| Exit| Help
Passage ' She almost hesitated to offer her advice. ,j

~ =] Vi

Syntax | AKRO | AKR |

Question | Did she offer advice?

Syntax | AKRO | AKR |

Answer || YES
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have N_ to X I- X

‘000 X parc bridge
Display Analyses: & single . packed Clear| Exit| Help
Passage | Ed had the chutzpah to steal the money. lj

5 =] ¥4

Syntax | AKRO | AKR |

Question | Ed stole the money.

Syntax | AKRO | AKR |

Answer  ||YES
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not have N_ to X I~ not X

000 X parc bridge
Display Analyses: 4 single - packed CIear| Exit| Help
Passage 'Bush didn’t have the gall to pardon Scooter Libby.

a
=l e 4

Syntax | AKRO | AKR |

Question | Did Bush pardon Scooter Libby?

P~ |~

Syntax | AKRO | AKR |

Answer  [[NO
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waste N, to I- not X

000 X parc bridge
Display Analyses: @ single - packed Clear| Exitl Help
Passage | John wasted his chance to buy beer. lj

B~ =] ¥4

Syntax | AKRO | AKR |

Question | Did John buy beer?

P~ |~

Syntax | AKRO | AKR |

Answer  [[NO
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not waste N, to X I- X

000 X parc bridge
Display Analyses: @ single - packed Clear| Exit| Help
Passage | John nearly wasted his chance to buy beer. ’j

= [ 4

Syntax | AKRO | AKR |

Question | Did John buy beer?

~ |~

Syntax | AKRO | AKR |

Answer || YES
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waste N_to I- X

000 X parc bridge
Display Analyses: @ single ., packed C|ear| Exit| Help
Passage | John wasted his paycheck to buy beer. ,j

I = 4

Syntax | AKRO | AKR |

Question | Did John buy beer?

~ [~

Syntax | AKRO | AKR |

Answer  ||YES
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not forget to force to X I X

‘000 X parc bridge

Display Analyses: 4 single - packed Clear| Exit| Help

Passage | Ed did not forget to force Dave to leave.

~

;

=] ¥

Syntax | AKRO | AKR |

Question | Dave left.

Syntax | AKRO | AKR |

Answer  ||YES
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not wait to X => ??

(Mo Ne X parc bridge
Display Analyses: - single @ packed Clear| Exit| Help
Passage | Susan did not wait to get married.

[ A

Syntax | AKRO | AKR |

Question | Susan got married.

X |~

Syntax | AKRO | AKR |

Answer || AMBIGUOUS
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buy - sell

‘000 X parc bridge

Display Analyses: 4 single - packed Clear| Exit| Help

Passage | John sold the car to Mary.

~

;

=] ¥

Syntax | AKRO | AKR |

Question | Mary bought the car from John.

Syntax | AKRO | AKR |

Answer  ||YES
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win - lose 1

‘000 X parc bridge

Display Analyses: 4 single - packed Clear| Exit| Help

Passage | Kim lost the race to Sandy.

~

;

=] ¥

Syntax | AKRO | AKR |

Question | Sandy won the race.

Syntax | AKRO | AKR |

Answer  ||YES
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win - lose 2

‘000 X parc bridge

Display Analyses: 4 single - packed Clear| Exit| Help

Passage | Kim lost the race to Sandy.

~

;

=] ¥

Syntax | AKRO | AKR |

Question | Sandy lost the race.

Syntax | AKRO | AKR |

Answer  [|NO

I Palo Alto Research Center




win - lose 3

‘000 X parc bridge

Display Analyses: 4 single - packed Clear| Exit| Help

Passage | Kim lost the race to Sandy.

~

;

=] ¥

Syntax | AKRO | AKR |

Question | Kim won the race.

Syntax | AKRO | AKR |

Answer  [|NO
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marry is symmetric in one sense

‘000 X parc bridge
Display Analyses: ., single @ packed Clear | Exit| Help

John married Mary. lj
= L 4

Syntax | AKRO | AKR |

Passage

Question | Mary married John.

Syntax | AKRO | AKR |

Answer ||
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X passage akrO

kill

"\ |John married Mary.

Choice Space:

xor(Al, A2) iff 1

Conceptual Structure:

definite(Mary:14)
definite{John:1)
subconcept{marry:6,[marry-1,marry-2])

A2: role(Patient,marry:6,Mary:14)

AZ: role(Agent,marry:6,John:1)

Al: role(Actor2,marry:6,Mary:14)

Al: role{Actor1,marry:6,John:1)
subconcept{John:1,[male-2])
alias(John:1,[John])
role(cardinality_restriction,John:1,sq)
subconcept{Mary:14,[female-2])
alias{Mary:14,[Mary])
role(cardinality_restriction,Mary:14,sqg)

Contextual Structure:

context(t)
top_context(t)
instantiable{John:1,t)
instantiable{Mary:14,t)
instantiable{marry:6.t)

Temporal Structure:

temporalRel(startsAfterEndingOf,Now,marry:6)

AN
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